Extra Redox Questions

1
Calculate the oxidation states of the following:

a)

Sulphur in SO42-

b)

Nitrogen in NO3-

c)

Chlorine in ClO3-

d)

Chlorine in ClO-

e)

Chromium in Cr2O72-

f)

Chromium in Cr3+

g)

Magnesium in MgCl2
h)

Manganese in MnO2
i)

Aluminium in Al2O3
j)

Silver in AgCl2
k)

Copper in [Cu (H2O)6]2+

l)

Copper in CuCl42-

2 Explain why each of these reactions IS or IS NOT a redox reaction:

a) 2Mg + O2 ( 2MgO

b) CuSO4 + Zn ( ZnSO4 + Cu

c) 2Al + 3Cl2 ( 2AlCl3
d) Cl2 + SO2 + 2H2O ( H2SO4 + 2HCl

e) MgO + 2HCl ( MgCl2 + H2O

f) Zn + 2HCl ( ZnCl2 + H2
g) CuO + 2HCl ( CuCl2 + H2O

h) MnO2 + 4HCl ( MnCl2 + Cl2 + 2H2O

3 Classify the following as oxidation, reduction or redox (In the case of the redox reaction, highlight which species is being reduced and which species is being oxidised).

a)  Cu ( Cu2+ + 2e-
b) Mg + H2O ( MgO + H2
c) CuO + C ( Cu + CO

d) Zn2+ + 2e- ( Zn

e) 2Mg + O2 ( 2MgO

f) 2Al + 2Fe2O3 ( Al2O3 + 2Fe

g) Cl2 + 2Br- ( 2Cl- + Br2
h) Ca ( Ca2+ + 2e-
i) 2Na + 2H2O ( 2NaOH + H2
4 What are the oxidation states of the underlined elements?

a) K2Cr2O7
b) Pb(II)SO4
c) HNO3
d) Na2S2O3
e) CaCO3
f) Na8Ta6O19
g) Fe2O3
h) [Fe (H2O)6]2+
i) [Fe (H2O)4 (OH)2]+
j) [Cu (H2O)4 Cl4]2-
k) MnO4-
l) PtCl62-
